B2 E B ]

FH29% S 15 BBLERERRUIBHR]

[ AR Fr2905F%F 158

(ER29F4A10H~FER29F4H16H) ]

TrR29%F4H18H

& (% 15 38) Rt (FR29FF 1:ELKE)
EERESH 7L TaL
2R % 3% #% es#t
SR Tl MEMEFRA 14 (Ssonne/ (DEF)) . I EHMMEKIBRERRE 14(026)
AR %@L ABIRFR 1 TUTE 246 LOARTE 144
TA—NFHF 20 DIVARRLTHEBERNEERERRE 74, SEkK 34,
SHERPE BRRMRETEAEREE 14 (Z0MH) . BIERSAMMSEL Y BRERRE 24 BRERBETLAEIRE 34 (AIDS 14, ZOM 14, |AER 140,
(ERIBIEKRE) | BF 14 (RYSREIH) REMAVINIVHERRIE 44, REMMRRERPE 194, KE(ARBICRS, ) 14,
e 174(RESRE 1Y 3. REBRETH 5. BER o). MLA 14 (BREZHED
F1ETERLYBEREHD SN o-FRFIE, DBREMBEBRR D1V IVY DARBMEL Y RERERTL =,
SERRRE REMBHERDERSYEERERILT7. 97 ALFTHE (7. 66 N) MDEIENT, HIEEADLRILTHBLTLET,
(ERBIBKRR) | 1VTIVIVYOERLYBEFBRERIIS. 47 ALFTHE(6. 63 N) DLFHDL., FIFELYOPOEDLARLTHBLTVES,
ABAMML Y HRERBEROE /ALY BEERERT2. 66 NEFHE (1. 71 N)ALIBIIL., FIFLEADLNILTHRBLTOET .
30 R BB A R AR (3ER) ; ABETRIM L L BREHEA K F A KR (3R
- TR274
25 15227& 4;@%‘— 6 - K284
E | T TREIFE 4
=19 i =
B0 Ko A } % 2
1= R 44 TN xX t= 2 ; ¥ K %Xx—x**%w K
Yo o AR RAGIHH Y W Y X
0 Iy A N I By | V- Il I I - 0 ) Il L Il - I I -
e oo e e e R R AR AR S ST ER TP TR SR T 205N e eoe e oS R AR RR S A AS RS T T T I $95R0T
1A 2R 3R 48 5A  6A 7R 8A 9A |10A 1A 12R 1A |28 | 3R | 4R |5A  6A | 7A | 8A | 9A |10A | 11A| 12R
60 ATV RERR (3ER) SRATIEAREIE A R A KR (35 RA)
- 278
Aso f“‘ FRL27T4E X ¥~ FRE28E X
=40 Bx =¥ 284 i XX X —0— FR2E X xR
3 J \ X —O— TR29F X AR X i X
530 AR — e Y ¥ ¥X LA SV ERY)
= 20 J*’I ..:*‘ '_xx \“/}Kﬂ( X
yio &/ % X AN
Ko
J KKK KAHKHKHHHHHHAHHKHAKK [ T R *
i e S S semoia R RER=E e S E NI —JN,HSS33&%1:1?91?354:1‘:1‘:’31?1&4:?@%ms\”
1A 2R 38R 48 A  6A 7R s8R 9A |10A 1A 12R8 1A | 2R | 3A | 4R 5A | 6R ‘ 7H | 88 | 9A 10R | 11A | 12R




R ERAYRBH. KR, X5
L294F 1538

5K Fo

£:18: 29448188

N

A7 oW

RS ™ A )L A JRYLIE

MR SEAH AL

ABEVAILE L > ER B R EE 2%

TG B

S

Bx Ak

ek

=)

ek

=)

RS

=)

A | ANy

Ak | ANy

b | EakEY

N
NG

S
=
R
=i
=41
S
R
fti - N BH

323
69
21
20
58
68
67
20

| PR w o

.47

63
00
22
44
80
38
50

18 0.51

| = © o1 w |
o
[0e]
w

5 0.14

| DO — D |
(=}
—
-~

93 2. 66
29 80
4 00
4 80
6 20
33 50
13 . 60
4 80

SO DN Ol = O = Ol

279 7.97
49 9. 80
13 3.25
34 6. 80
63 12. 60
64 10. 67
39 7.80

17 3.40

26 0.74
1.20

I B>~ W O | O
—
[e¢]
(=)

oo
co O
o O

N

FE O

Qe ERLBE

RIS

ANV T —F

VAT E FRZE

Sx ot

e

=)

e K

=)

e

| sEaickizy

EEL
I

HEREK ERETZY

g | EakEY

el | EaEEY

N
NG

Sl
=
R
=iE
=40
S
R
fti - N BH

[ |

0. 06

3 0.09

| DN o=
\'O'I
S
[wn)

13 0. 37
0. 40

| W DN = Wb
(=]
—
-3

15 0.43
8 1.60

| > w |
\'o'\
]
9

N

S i PR R

TATPE AR

Bx ok

e

=)

e K

=)

T
)il
=
IR
Eiz
=
25
BRE
fth 53

17 1.89

I w | o o1 w
w
o
[«

N

RS

IEEMEREIT A

~ A 27T X< ik

173V TRZE (ROAIE IR <)

B E R (2 X A L R)

A TN (ABE—_A T R)

Bx Ak

i)

¥ | EaaEY

e K

=)

e K

| sEackzy

g | EasEY

A | ANy

A | ANy

N
NG

)il
=
IR
Bz
=
25
RRE
fth 53

1 0.50
1 1. 00

1 0. 50
1 1. 00

1 0.50
1 1. 00




BEH-ERA-YRER, KH. Xl

$§+ﬁ%:$,ﬁ29¢15i@ £:5H8 : FR29F4818H
ATV IVYES 53 ~571mA ~11M»H 1% 2 5% 3 7% 475 5 5% 6 7% 7% S
E % TR 323 - 1 16 18 31 26 24 29 21 18
T 5. 47 - 0.02 0.27 0.31 0.53 0.44 0.41 0. 49 0. 36 0.31
INBRIE S &3 ~ 51 ~1 1/ 1 5% 2 % 3 I 4 7% 5 I 6 I 7 % 8 1%
R S 7 A )L ARG E TR 18 2 6 9 1 - - - - - -
R 0.51 0.06 0.17 0.26 0.03 - - - - - -
NIF B A eI 5 - - - 1 1 - 1 1 - -
ERY T 0.14 - - - 0.03 0.03 - 0. 03 0.03 - -
ARRRMIMAE L Y ERBENRER 2 K 93 - - 4 4 12 11 14 13 7 11
R 2.66 - - 0.11 0.11 0.34 0.31 0. 40 0.37 0. 20 0.31
TG EE AR % brdeit 279 2 27 47 47 29 25 32 12 17 8
R 7.97 0.06 0.77 1.34 1.34 0.83 0.71 0.91 0.34 0.49 0.23
IR B 26 1 3 1 1 3 1 5 - 7 1
YT 0.74 0. 03 0. 09 0. 03 0.03 0. 09 0.03 0.14 - 0. 20 0.03
TR RS 2 1 1 - - - - - - - -
R 0.06 0. 03 0.03 - - - - - - - -
R MEATEE R HK 3 - - - - - - 1 - 1 1
R 0. 09 - - - - - - 0. 03 - 0.03 0.03
AN I 5 K 13 - 4 6 2 1 - - - - -
R 0.37 - 0.11 0.17 0.06 0.03 - - - - -
£ H % s - - - - - - - - - - -
) - - - - - - - - - - -
e S s - - - - - - - - - - -
S T2 Y - - - - - - - - - - -
TRAT M T R RS 15 - - 1 2 3 3 - 1 2 1
ER T2 0.43 - - 0. 03 0. 06 0. 09 0. 09 - 0. 03 0. 06 0. 03
BRRIE S & ~ 574 ~1 174 1 7% 2 % 3 4 7% 5 ik 6 % 7 ik 8 Ik
ANE H T MRS IR T - - - - - - - - - - -
ERST Y - - - - - - - - - - -
PRATME AR B TR 17 - - 2 - - - - - 1 1
T 1.89 - - 0.22 - - - - - 0.11 0.11
H&ES HEF ~5mH ~1 124 1% 2 5% 3 5% 4 7% 5 5% 6 % 7 5% 8 %
A BB S BRI - - - - - - - - - - -
ERST= - - - - - - - - - - -
T P BB s TR 1 - - - - - - - - - -
R 0. 50 - - - - - - - - - -
~A 27T X fili%k e 1 - - - - - - - - - 1
R 0. 50 - - - - - - - - - 0. 50
77 IVT MR (AU LIEIEERLS) FEEEK - - - - - - - - - - -
S 720 - - - - - - - - - - -
BEREEBR (v X T A L R) BRI 1 - - 1 - - - - - - -
R 0.50 - - 0. 50 - - - - - - -
A TN Y (AR —_A T R) B - - - - - - - - - - -
RS T2 Y - - - - - - - - - - -




BEH ERA-UBBH KR, X5
EEIMR: FA295F 158

£5t8  FER29F4818H

AUTILIVHES 0% 105~ 144% 15K~ 195% 20p~295% 30M&~39n% A0RE~49%% b5Om~50i% 60 ~69m 70RE~79%  80m%LLE
A7 W TR 17 33 13 11 27 14 15 4 3 2
ERYTZY 0.29 0. 56 0.22 0.19 0. 46 0.24 0. 25 0.07 0. 05 0.03
INBRLTE R 9% 10mE~14%%  15m~195% 2075 LA |
R S U A L R EYLSE TR - - - -
e =t—brall)) - - - -
NIF B A FRBEL - 1 - -
== brall)) - 0.03 - -
ABRRIIYE L > S EREE HER A B 6 2 2 7
e =t—brall)) 0.17 0.06 0. 06 0.20
PR i=l B 5 10 1 17
ERYTZY 0.14 0.29 0.03 0.49
IKIE FREK 1 2 - -
E R0 0.03 0.06 - -
F RN T - - - -
ERYTZY - - - -
{RY AL BT TR - - - -
e =t—brall)) - - - -
RN B FRBE - - - -
ERYTZY - - - -
EREA TR - - - -
et brall)) - - - -
IR —F FRBE - - - -
ERYTZY - - - -
TEATVEE TRRAK TR 1 - 1 -
e =t—prall)) 0.03 - 0.03 -
BRELE = 9% 10A~145%  15m~197% 20/~297% 30m~39m% 40m~497% 50m~59%% 60 ~697% 7058 0L I
2P P R R % e BEk - - - - - - - - -
ERYTZY - - - - - - - - -
TEAT M A G % £ 2 1 - - - 3 - 3 4
ERYTZY 0.22 0.11 - - - 0.33 - 0.33 0. 44
HEFES 95 105~ 14%% 158~ 195% 20M~20%% 30R5~39n% A0RE~49%% bHO0m~50mE 60RE~69% 70RE~79%  80mELlL L
R P B FRBE - - - - - - - - - -
E R0 - - - - - - - - - -
e PE BB % FRBEL - - - 1 - - - - - -
ERYTZY - - - 0.50 - - - - - -
~ A 37T A= filigk Bk - - - - - - - - - -
e =t—brall)) - - - - - - - - - -
77 IVTMR (AU LHEIEERLS) B - - - - - - - - - -
ERYTZY - - - - - - - - - -
YPEE R (v X 7oA LR) B - - - - - - - - - -
e =t—prall)] - - - - - - - - - -
A TNV (AR —_A T R) REEK - - - - - - - - - -

ERYT=0




BEH-ERAYBREH. KR, XA

EEHMR TR29F 158 £EtH: Frk2954 8188
At 5 3@ fif 4 JE R 3 I iy 2 I i 1 ¥ i P
A 7T R FRK 3, 290 916 779 437 444 391 323
TERL T2 9.19 15. 27 12.98 7.28 7. 40 6.63 5.47
R S 7 A )L A KYLIE TR 46 9 7 3 5 4 18
TERL T2 0.22 0.25 0.19 0. 08 0.14 0.11 0.51
MR BRI e ER B 20 7 3 2 1 2 5
TERL T2 0.09 0.19 0.08 0. 06 0.03 0. 06 0.14
ARERIIMAE U o P EREE HEE S TR RS 472 109 100 46 64 60 93
ERL T2 2.21 3.03 2.78 1.28 1.78 1.71 2.66
TG W% TR ERS 1,779 365 348 236 283 268 279
ERL T2 8.31 10. 14 9.67 6. 56 7.86 7.66 7.97
K TR 144 17 14 30 24 33 26
ERL T2 0.67 0.47 0.39 0.83 0.67 0.94 0.74
TR i3~ %x 4 1 1 - - - 2
TERL T2 0. 02 0.03 0.03 - - - 0. 06
R PERT BT TR ER S 11 2 1 - - 5 3
ERL T2 0.05 0. 06 0.03 - - 0.14 0. 09
ZEIENERE B TR ER S 88 22 15 11 11 16 13
TERL T2 0.41 0.61 0. 42 0.31 0.31 0. 46 0.37
HHE i3 %x - - - - - - -
ERYET= - - - - - - -
AR —F RS 2 1 - - 1 - -
ERL T2 0.01 0.03 - - 0.03 - -
TRATHEH T ARE TR RS 134 35 24 26 21 13 15
ERL T2 0.63 0.97 0.67 0.72 0.58 0.37 0.43
A H i AR A TR - - - - - - -
ERYTZD - - - - - - -
TEAT MM AR TR RS 114 19 28 13 19 18 17
ERL T2 2.11 2.11 3. 11 1.44 2.11 2. 00 1. 89
B BB RS TR - - - - - - -
ERYETZ - - - - - - -
A B MEE R % BB 5 - 1 - 3 - 1
ERL T2 0. 42 - 0. 50 - 1. 50 - 0. 50
<A aS T X<k TR 2 - - - 1 - 1
TERL T2 0.17 - - - 0. 50 - 0. 50
7 7 IVT MR (7 A9EIEERL) R - - - - - - -
ERYET - - - - - - -
YRR (rX A ILR) TR 6 1 2 - 1 1 1
TERL T2 0.50 0. 50 1. 00 - 0. 50 0. 50 0. 50
A TN (AR —_A T R) BB 4 1 2 1 - - -
TE AT 0.33 0. 50 1. 00 0. 50 - - -




